1. Using only one trial to collect data in an experiment —
A makes it easier to determine the a valid conclusion
B reduces the percent error in the results
causes the conclusion to be less reliable
D requires data with more significant figures
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3. What is the half-life of Americium-242?
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4. Two electrons are shared equally in bromine (Br,). What type of bond is
represented between the bromine atoms in this Lewis structure?
Nonpolar covalent bond
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5. In the Haber process, nitrogen (N,) and hydrogen (H,) are directly combined
to form ammonia (NH;). Which illustration contains the stoichiometric = mo H

quantities of the reactants for this reaction? “Coefficients
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